
 

 

 

 

 

                   Internal Assessment – Jan 2021 

CLASS: IV              SUBJECT: MATHEMATICS              MaxMarks:30 
Submission Date: 30th January 2021   

 

1) Fill in the blanks:                  (10) 

i) The Hindu – Arabic numeral for LXXVI is _______. 

ii) The place value of the underlined digit in 62,987 is_______. 

iii) 639 rounded off nearest to tens will be  ________. 

iv) (82547 + 35458) + 12345 = 82574 + ( _________ + 12345) 

v) Roman numeral for 45 is _____. 

vi) The smallest 6 digit number is ________. 

vii) 53,951 x ____ = 53,951 

viii) 82 x 1000 = _______. 

ix)  If 79 ÷ 10 then quotient is _____ and remainder is _____. 

x) XXIX + VII = _______.                   

2) Answer in one word:           (6) 

i) Write the number name for 23,109. _________________________. 

ii) Arrange in ascending order: 41,475 ; 41,745 ; 40,475 ; 41,574- ________________________. 

iii) Write the number name for 1,234,560. __________________________. 

iv)  Write the expanded form for 5,47,805 _____________________________. 

v) Arrange in descending order: 1,72,842 ; 1,84,728 ; 1,84,628 ; 1,75,625- __________________. 

vi) Form the smallest 6-digit number using the digits 1, 3, 6, 0, 8, 7. ________________. 

 

3) Add the following using column method:        (2) 

i. 2,34,786 + 1,93,877    ii. 8,76,543 + 12,345 

 

4) Subtract using column method:         (2) 

i. 3,78,523 – 1,59,476    ii. 53,278 from 97,306 

 

5) Multiply:            (2) 

   i. 249 x 250     ii. 3201 by 47 

 

6) Divide using long division and check your answer:      (4) 

    i. 73818 ÷ 9      ii. 7896 ÷ 15 

 



7) Solve the word problems:          (4) 

    i. The population of a city is 4,74,300. If the number of females is 2,33,385, find the  

     number of males in the city. 

 ii. The cost of 8 books is Rs.2816. Find the cost one book. 
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